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sECrIoN - B

5. (al Find the family orthogon al to S[z(x + Y]', x'- Y?l = 0
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5. (d)
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. Dendutum.

d cquation of motion a compound
TTOI

t

I"t p"0

Lai* 0 bc loinj X sttlPer^l{ln"

G"rrjJr". &nd tt bc

to.dl'u t
O Cre f^1

4e c.|

V c$s 0

.'L'
f.. b'g M is

1_

trrt^r$, r\ InciePuJ er-[
Dt-'---ds

hrI L^zMKg
<Z,- t t Lr'n*

B N hLrss s

€
=Ps=

2_

Pe -a*H
E-

k-'r

-Mlrsih0 G-trL Hat-t il'fa"lctt'

F..n Urthnr

iF s Rs nvro.l l

G : -+dH*m-o 0

p o: )yt s
?o= -M\rs\ns

*"lt t. s i h s : ty\ 12 c,

sllr So

* &
*h
a, 'l-

ffi ffii$lf.rj,:-'.,ffi:'ffi#fr''?#il'ffiii,iiirH'ffi;*,,.e.irrd,ob.d.ro.ilo,{.,,o:,,!srt!,,,2,0,r5,r.,,!,
P.T.O.

trtr^



6. (a) (i)

rq{x

Form a

th

e

1

6 .l*rrn %

r-d{-
Yt<3 n'Y

dr
2 x ,\v')

partial differential equation by eliminating the function 0 from h + &y

+ nz - $lxz + y2 + z2l.

(ii) Solve 1xj + Sxy'z) p + (l + 3x?la = 2zlx'+ y'l
[5+7=12;

D -(.-,* t^q "tn}

brTmacr^.h^ah'n

.: j,s n n# "

M I naf
,Y

fltnrund'ng 4' fipr" o !' @

x+

= Q (..t* l{tt ? )
or ur ^rt v crhd' Y

tqtt"\..{'* *:) (2 r^1 ')i&l

: Q'tn\r1'ltt)
(zq* zl'

I
-e

-:

,}

I ,Lt n p)
- 

is )qq uJ xd foF

1) ( \1 )

+*xtlry q b '

ir Trtr %
6[uffi"!'

Lry*Y-
c\ -t-

zet *+'{ t,)

Mul+iPlrT h#'-'
xdx ct^{

Lr;Y , !)
r z(r.dr-'{&, s d}

-t .J:F L
zt *Y *

!n (r'-^{-) =-(r z- +'dn c

dq6
q313r\, 4 q-r9X

) L>tl^{':J = ,,t"(
*s

P)A
U\ 3ro - $* 3 t.l

I *3 rr3-

^.. 
{, ir,'*l J*r\( il)F)

J-h* ,'. -{ .tn (qr-1ol ) 'i.

).. i *^{

;"-l ] , cl

3 t3ts
l +'J tr&

: 1*3rrl clu "d

'2 f" ;f flS
u1

A*
)^

r -l-
\"-bl

\( ( )'
' ,.,, *

." 1! ,,1 
(

\ \ -)r.\ 1 f-1')
) ,tl

r{''\

32 of 50

lttlo o, t t0! ,ara, rlld n.lhrr.r 
'a.|J 

kl.t orlhi"atr Pi tllll llill. 0r t.atalrrt,
f l$tctl O,] XIt I 0r. t$, h, f le.|,ICll.ris l0rr. l$tarl.r lLtr.. I|.le.l
i&ooMtofttr,r.r'le.rtt,inrrlc,ttecrr*nltr(ll(t$ht[t-Briu,$r*rArl|9llt|.$r|t$t.h$Nlt.]ht|e 0Llt$ilrl,olltltltlll
r#.lmllfllr,. rertr U tilull mrh.htalmlis0 p.T.o.

)

t" 
c.,

I



33 of 50
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7. {a) Thc bacteria concentration in a
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7 tdl (il Find the decimal equivalent of (3s7 .32)c.
(ii) Draw a flow chart for Runge Kulta Method, UN
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